

Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: 247-5-797-2024-7-0-3

PR No.: GF-2023-08-01831

Date: 08-17-2023

Dept./Office: ULC

Section/End-User: Geraldine T. Baro

Category: Books & Library

Materials

Funding Source: General Fund - MOOE

Project Title/Code: ULC - GF- MOOE - Books 2024

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Books for biochemistry and related subjects / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	2	5,000.00	-	10,000.00
	Specification: 2 titles, latest edition, hb/pb.	-				
2	Books for calculus and pre- calculus /any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	4	5,000.00		20,000.00
	Specification: 4 titles, latest edition. hb/pb.			11		
3	Books for childhood education / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	10	2,500.00		25,000.00
	Specification: 10 titles, latest edition/copyrighted within	the last	3 years, hb/pl	D.		
4	Books for culture and arts education / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	15	2,000.00		30,000.00

	Specification:				
	15 titles, latest edition/copyrighted within	the last	3 years, hb/pl	o.	
5	Books for Curriculum and assessment for physicaleducation / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	copy	3	2,000.00	6,000.00
	Specification:		h		
	3 titles related to curriculum and assessr	nent, late	est edition, hb	/pb.	
6	Books for development and reproductive bio earth science / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	4	5,000.00	20,000.0
	Specification: 4 titles, latest edition, hb/pb.				
7	Books for ecology / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	5,000.00	10,000.0
	Specification: 2 titles, latest edition, hb/pb.				,
8	Books for electromagnetism, gravitational theory / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	4	5,000.00	20,000.0
	Specification: 4 titles, latest edition, hb/pb.				
9	Books for electronics, theoretical mechanics, optics, thermodynamics, digital and analog electronics, quantum mechanics / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	5	5,000.00	25,000.0
	Specification:				
	10 titles, latest edition, hb/pb.				
10	Books for English phonology, morphology, and syntax / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair))	сору	2	4,000.00	8,000.0

		-			
	2 titles, latest edition/ copyrighted within	the last	3 years, hb/pb.		
11	Books for Environmental Sciences /any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	сору	3	5,000.00	15,000.0
	Specification:		***************************************		
	3 titles related to environmental sciences	s, latest e	edition.		
12	Books for general physiology and related subjects / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	3	5,000.00	15,000.0
	Specification:				
	3 titles, latest edition, hb/pb.				
13	Books for genetics, cell and molecular biology/ any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	3	5,000.00	15,000.0
	Specification:				
	4 titles, latest edition, hb/pb.				
14	Books for hospitality management / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	сору	10	2,500.00	25,000.0
	Specification:		lana and a second		
	10 titles, latest edition/copyrighted within	the last	3 years, hb/pb).	
15	Books for inferential statistics and biometry / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	4	5,000.00	20,000.0
	Specification:			•	
	4 titles, latest copyright, hb/pb.				
16	Books for integrated marine and coastal resources mgt., coral reefs, systematics and diversity, scientific diving, fishery mgt., ichthyology / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	10	5,000.00	50,000.0
_	Specification:				

	10.15 titles letest edition leb/sh				
17	Books for marine biology / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	15	2,500.00	37,500.0
	Specification: 15 titles, latest edition/copyrighted within	the last	3 vears (to be	purchased through l	Book Fair).
18	Books for marine botany, marine zoology, marine microbiology and fungi, marine ecology / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	10	5,000.00	50,000.0
	Specification: 10 titles, latest edition, hb/pb.				· ·
19	Books for marine plankton, marine biotechnology, marine fauna and conservation, mariculture/ silviculture, and other related subjects / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	12	5,000.00	60,000.0
	Specification: 10-15 titles, latest copyright, hb/pb.				
20	Books for modern physics, university physics, computational physics, mathematical physics / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	5	5,000.00	25,000.0
	Specification: 5 titles, latest edition, hb/pb.			·	
21	Books for organic and inorganic chemistry / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	5	5,000.00	25,000.0
	Specification:				
	5 titles, latest edition				
22	Books for Philippine dances, games, and sports / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	5	2,000.00	10,000.00

5 titles related to the subjects, latest editi	on, hb/pi	0.			
Books for physical education / any author, publisher, copyrighted within the last 3 years (to be ourchased through Book Fair).	сору	10	2,000.00		20,000.00
Specification:					
15 titles, latest edition/copyrighted within	the last	3 years, hb/pb			
any author, publisher, copyrighted within the last 3 years (to be purchased through Book	сору	5	5,000.00		25,000.0
Specification:					
5 titles, latest edition, hb/pb.					
society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book	сору	3	5,000.00		15,000.0
Specification:				×.	
3 titles. latest edition, hb/pb.					
author, publisher, copyrighted within the last 3 years (to be	сору	10	2,000.00		20,000.0
10 titles with the latest edition/ copyrighte	ed within	the last 3 year	irs,hb/pb.		
physics, solid state physics / any author, publisher, copyrighted within the last years (to be	сору	10	5,000.00		50,000.0
Specification:					
10 titles, latest edition, hb/pb.					
and learner-centered learning / any author, publisher, copyrighted	сору	3	2,000.00		6,000.0
Books for the entrepreneurial mind / any author, publisher,	copy	3	5,000.00		15,000.0
	purchased through Book Fair). Specification: 15 titles, latest edition/copyrighted within Books for remote sensing and GIS / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 5 titles, latest edition, hb/pb. Books for science technology and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 3 titles. latest edition, hb/pb. Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Specification: 10 titles with the latest edition/ copyrighted within the last years (to be purchased through Book Fair). Specification: 10 titles, solid state physics / any author, publisher, copyrighted within the last years (to be purchased through Book Fair). Specification: 10 titles, latest edition, hb/pb. Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Kopyrighted within the last 3 years (to be purchased through Book	purchased through Book Fair). Specification: 15 titles, latest edition/copyrighted within the last Books for remote sensing and GIS / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 5 titles, latest edition, hb/pb. Books for science technology and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 3 titles, latest edition, hb/pb. Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Specification: 10 titles with the latest edition/ copyrighted within the last years (to be purchased through Book Fair). Specification: 10 titles with the latest edition, hb/pb. Books for statistical and thermal physics, solid state physics / any author, publisher, copyrighted within the last years (to be purchased through Book Fair). Specification: 10 titles, latest edition, hb/pb. Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	purchased through Book Fair). Specification: 15 titles, latest edition/copyrighted within the last 3 years, hb/pb Books for remote sensing and GIS / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 5 titles, latest edition, hb/pb. Books for science technology and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 3 titles, latest edition, hb/pb. Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Specification: 10 titles with the latest edition/ copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 10 titles with the latest edition/ copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 10 titles, latest edition, hb/pb. Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	purchased through Book Fair). Specification: 15 titles, latest edition/copyrighted within the last 3 years, hb/pb. Books for remote sensing and GIS / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for science technology and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 3 titles. latest edition, hb/pb. Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair) Specification: 10 titles with the latest edition/ copyrighted within the last 3 years (to be purchased through Book Fair). Specification: 10 titles with the latest edition, hb/pb. Books for statistical and thermal physics, solid state physics / any author, publisher, copyrighted within the last years (to be purchased through Book Fair). Specification: 10 titles, latest edition, hb/pb. Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair) Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years to be purchased through Book Fair)	purchased through Book Fair). Specification: 15 titles, latest edition/copyrighted within the last 3 years, hb/pb. Books for remote sensing and GIS / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for science technology and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for social studies / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for statistical and thermal physics, solid state physics / any author, publisher, copyrighted within the last years (to be purchased through Book Fair). Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years (be purchased through Book Fair). Books for teaching profession and learner-centered learning / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair). Books for the entrepreneurial mind / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).

	0.00				
	3 titles, latest edition, hb/pb.				
30	Books for tourism management /any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	10	2,500.00	25,000.00
	Specification:				
	10 titles, latest edition/copyrighted within	the last	3 years, hb/pb).	
31	Books for waves optics and thermodynamics / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	4	5,000.00	20,000.00
	Specification: 4 titles, latest edition, hb/pb.				•
32	Books on assessment in learning / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00	4,000.00
	Specification:			***************************************	
	2 titles with the latest edition/copyrighted	l within th	ne last 3 years		
33	Books on biochemistry / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	1,500.00	3,000.00
	Specification:				
	2 titles with the latest edition/copyrighted	l within th	ne last 3 years	, hb/pb.	
34	Books on cell and molecular biology / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00	4,000.00
	Specification:				
	2 titles with the latest edition / copyrighte	d within	the last 3 year	s, hb/pb.	
35	Books on electricity and magnetism / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00	4,000.00

	Specification:					
	2 titles with the latest edition / copyrighte	d within	the last 3 yea	rs, hb/pb.		
36	Books on English and American Literature / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	copy	2	3,000.00		6,000.00
	Specification:			h		
	2 titles with the latest edition / copyrighte	d within	the last 3 yea	rs.		
37	Books on Filipino subjects / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair)	сору	10	2,000.00		20,000.00
	Specification:					
	10 titles with the latest edition/copyrighte	d within	the last 3 yea	rs, hb/pb.		
38	Books on language, culture, and society / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00		4,000.00
	Specification:					
	2 titles copyrighted within the last 3 years	S.				
39	Books on linguistics / any author, publisher with latest edition copyrighted within the last 3 years (to be purchased through Book Fair)	сору	2	3,500.00	VICENTE A. GILOS	7,000.00
	Specification:					
	2 titles copyrighted within the last 3 years	s, hb/pb.				
40	Books on literature (Afro-Asian, Philippine, English, American, Western, etc.) / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00		4,000.00
	Specification:					
9	2 titles with the latest edition/ copyrighted	d within t	he last 3 year	s, hb/pb.		
41	Books on microbiology and parasitology / author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	1,000.00		2,000.00

	Specification:				
	2 titles with the latest edition/copyrighted	within th	ne last 3 year	s, hb/pb.	
42	Books on modern physics / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	2	2,000.00	4,000.00
	Specification:				
	2 titles with the latest edition / copyrighte	d within	the last 3 yea	ars, hb/pb.	
43	Books on physical education / movement enhancement / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	copy	2	2,500.00	5,000.00
	Specification:				
	2 titles copyrighted within the last 3 years	S.			
44	Books on speech and theater arts / any author, publisher, copyrighted within the last 3 years (to be purchased within the last 3 years).	сору	2	1,000.00	2,000.00
	Specification: 2 titles with the latest edition / copyrighte	d within	the last 3 yea	ars, hb/pb.	
45	Books on teaching science / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	1,000.00	2,000.00
	Specification: 2 titles with the latest edition /copyrighted	d within t	he last 3 yea	rs, hb/pb.	
46	Books on technical writing / any author, publisher, copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	2,000.00	4,000.00
47	Books on visual arts / any author, publisher, latest edition copyrighted within the last 3 years (to be purchased through Book Fair).	сору	2	3,000.00	6,000.0
	rair).				
	Specification:				
	AND THE RESERVE THE PARTY OF TH	ted within	n the last 3 ye	ears, hb/pb.	
	Specification:	ted within	n the last 3 ye	ears, hb/pb.	798,500.0

Funds Available: Checked by: ALICIA W. FLORES JOVELYN H. MABUAN HEAD, BUDGET OFFICE TWG - Books & Library Materials Noted by: Approved by: Requested by: Signature: GERALDINE T. BARO VICENTE A. GILOS EDGARDO E. TULIN Printed Name: PRESIDENT, VSU END USER UNIT HEAD, PROJECT LEADER Designation: